Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.16.dwg

GLAZED FIBERGLASS

SINGLE DOOR
w/ or w/out SIDELITE(S)
"IMPACT"
INSWING / OUTSWING

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida
Building Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone"
(HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment
o base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection, this product complies with FBC
Sections 1609.1.2 & R301.2.1.2 and does not require an impact resistant covering. This
product meets missile level "D" and excludes Wind Zone 4 as defined in ASTM E 1996 and
FBC Sections 1609.1.2.2 & R301.2.1.2.1.

For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Door panel details

3 Sidelite panel details

4 Elevations

5 Horizontal & vertical cross sections (2X buck
6

7

8

9

SHEET3#

Horizontal & vertical cross sections (1X buck
Horizontal & vertical cross sections (Direct to Masonry)
Horizontal cross sections

Vertical cross sections

10 Buck anchoring

11 Frame anchoring

12 Components

13 Bill of materials

\\\\\\\lllllll ’l/,
N\ 7/
RO, %,
S A L . /0 % 0
SEN Y
S o ".\“’, E’,
S5y & €z
= 0.2 S €= . baomn
TVAS = 056 ;o0
— v, SOSZz8a0
2 3. S EEd
v . o] N :
%, e &S Sses
/’I/ FR\\\\ @ .=
LT > §R0e
@& ON - 0
— o ..": o X Zc> e
Nl Ey ZRB,%
8 2 50 9 .cw
Sy 3EEE
37.5"MAX. O.A. _ 52.75'MAX.O.A. __, 67.5" MAX. O.A. Tle v,
FRAME WIDTH FRAME WIDTH FRAME WIDTH <|& 52 §
3 0O .
S
/ / / Lul).l
Vi 4 74 / S / 85
o ' ' / 2 0=
5 5 = °F
O O )
= = % 5 u%.n
s ¥ R PR3
=0 <9 N EEE
<5 °3 X X 0 0 X |oflo : (g,
o’ o <2 o o = 0
<= 20 K= o SR
< - o S ol &£ o»n
= 3 © © 3 o Fi
s B oA
B ¥ / / / .
' ‘ // // /4/ /4/ // /// o
o =]
Continuous Head and Sill Continuous Head and Sill
2
@]
%)
o
o
L
S
DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF) =
CONFIGURATION INSWING OUTSWING Z
POSITIVE | NEGATIVE | POSITIVE | NEGATIVE o 4/ ;5@ !
s . . . .
X, OX, XO, OXO +40.0 -45.0 +45.0 -45.0 DWG. B:  RW
CHK. BY: LFS
DRAWING NO.:
FL-25575.16
SHEET _1 oF 13




Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.16.dwg

031" —= |=—- @@ =] j=—0.25"
317 EXTERIOR 317
b Sy v
.
R x # \ ] TOP RAIL
=7 \ = = N g (COMP)
STILE CAP HIN(CE\E LS)T'LE INERIR LATECLS)“LE ST;LE/?:?P e TOP RAIL
PVC o
el /"1 "\ HORIZONTAL CROSS SECTION | REINFORCEMENT
\2/ = {LvL)
35.75" MAX. :
PANEL WIDTH FOAMCORE — ]|
., 075MAX
D.L.O. WIDTH
4
/!
10 kla] |3
v \2/ g
=
5 \\\ B
o EXTERIOR ¥ INTERIOR
. & = P
xI Q I - l
B g o B
o N <« —
i = X " @ 4 p
o 0 K11 1
X <
<
: z
2 3 o
\SEE HARDWARE
TABLE FIBERGLASS
SKIN - SN T
// iE BOTIOM RAIL
=5 REINFORCEMENT
~ O + (LVL)
2 #8 X 1-1/8" SELF 9 g
THREADING SCREW S S - ~
(TYP.) ‘MANUFACTURER'| MODEL- - i N BOTIOM RAIL
40 )-GLAZED DOOR PANEL KWIKSET KNOB: SIGNATURE SERIES " l (COMP)
Fiberglass DEADBOLT:  SIGNATURE SERIES (980) ~—1.75"——
KNOB: F SERIES 7“2\ VERTICAL CROSS SECTION
SCHLAGE 5

DOOR SKiN: 0.075" MIN. THK. FIBERGLASS
CORE MATERIAL: POLYURETHANE FOAM

DEADBOLT: Bé0 SERIES

\\\\\ * I/,,
7,
A - )
N -* . v
SO %z 8
:s @ A -
2::5’ g 8. Jd=0 M
=5ig ¢ BiZZZ L,
= ) &= . bomn
- [y z Q’.‘o~$ -
PR NS E Jo®
/W'u »* 0\ Z .90,0’
z > SO St
., - - = .
’// ....... S 800
,/// \\\\\ 3 >|qZ
7 \ Z0o
I " 5828
& Oon - 8
ey oo
—{o B (o] gz (]
Nig € Znn x
Oto o O [}
S| €0 9 cw
SiEan 5926
~2 "¢ modi
T8 w
Qle o
<le ¢z §
£ ©
g3 2uj @<
38 >a
~ k]
& <
(75} Q
2. -d
3 o
o |3 =
-
£ |5
= 4 d
LE |98
51 ] &
2 o
el |&
0. oo
>—
)
v
Z
O
12
'
L)
<
a
o
pd
oaTE: 4/15/21
scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL-25575.16
sHEeT 2 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.16.dwg

13.75" MAX.
PANEL WIDTH
675°MAX | |
D.L.O. WIDTH
>
]
| /
74

~

/

78.75" MAX. D.L.O. HEIGHT
P
]

95" MAX. PANEL HEIGHT

1.58"

- 1.75" —]

il

G1)G2

EXTERIOR

/4
i

STILE
(LVL)

INTERIOR

m HORIZONTAL CROSS SECTION

Al

INTERIOR

—

*

1
24

~—7/16" GLASS BITE

—

AN

EXTERIOR

#8 X 1-1/8" SELF
THREADING SCREW %

#8X 1-1/8" SELF
THREADING SCREW
(TYP.)

. SIDELITE PANEL
Fiberglass

DOOR SKIN: 0.075" MIN. THK. FIBERGLASS
CORE MATERIAL: POLYURETHANE FOAM

7.75" MAX.
0.C. (TYP)

(TYP.)

(::) GLAZING DETAIL
DUAL GLAZED

\‘i‘

ST. STEEL SPACER

INTERIOR

—— 1" O.A, THK GLASS

1/8" ANNEALED GLASS

[—— 1.62" —-—1

[4 1.39"

]n

‘ LITE FRAME

0.090" SAFLEX PVB INTERLAYER

- T /8" ANNEALED GLASS

AR SPACE
1/8" TEMPERED GLASS

1/
1

EXTERIOR
#8 X 1-1/8"SE

THREADING SCREW ¥

(TYP.)

LF

() GLAZING DETAIL
TRIPLE GLAZED

*DOW 995 STRUCTURAL SEALANT

7/16" GLASS BITE

D

y

— 1" O.A. THK GLASS

DECORATIVE GLASS
AR SPACE

5/32" TEMPERED GLASS
DURASEAL SPACER

1/8" ANNEALED GLASS
4 —0.090" SAFLEX PVB INTERLAYER
1/8" ANNEALED GLASS

- 1.45" ~]

A\

EXTERIOR

\

/.

7

e 1.75" —=

m VERTICAL CROSS SECTION

3/

TITITT;

wi /

QO s,

D eveeenn VALY,
o -4, Y4

A * ¢
~ ot o
TOP RAIL NEA i
(COMP) S5y 8 g P
= g% N £ E 5w
=293 2 L san
,’W », Z O 0; o
AN St
%2 e Hgog
,'I/ a ..':—)z
AT )
& O N og,
o § O Xz @
SlEEs £,
Nl 69 2 L 5K
wis Y 50¢ m
= & DTl
=le W
215 . ¢
E 6%
3 Cuj @
8 X
]
o =
E I
= | §
I
3 =z
L] B =
|8 w
2 9z
5 ~ wl 2
Q S| »
[a) =
INTERIOR 2 |z
o [a 8
>—
i2)
)
=
o
FIBERGLASS @
SKIN a
o
FOAM CORE E‘
a
o
..\ Z
(Bé)ggxplilﬁé‘i DATE: 4/15/21
ScALE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL-25575.16
SHEET 3 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



TON| SANVYLINSNOD oNIaHnNg

‘ME L2082 O

£186 'ON Ansibey 3dgd SNOISIATY ©
LB16°6G9°CLR TON suoyd Ag 31vd [ON|~ 2™
S6SEE T4 ‘OOMIPA ‘0£Z Xxog ‘O'd \Su SNOLVAI 13 NI = m T H_
o_ﬁ _Nm.rz&..:mzoo ONIaTING \&v "ATENISSY dO Livd ) _.N« <5 1°
Wi 11, N 20|
///Mrﬁ WNoygl,, 6OYEY "ON ‘I'd MALETR |
///@ ...&.D.—W.@.NU.-.&J&\\\\ PIULDS '4 UOPUAT TANI SSYT19 ALINIML i M slv|E 2 m
&... 0 IVIS V)% :hg peipdeid sjuswinoog 11ONA0¥d HEIEE W &
3 120 'S 1 udy
¥ Pxs
.
=, LGN A &
U, \SIOm Nz//z/

/
Va
@)
2
8
/
Va

(5N 55

SN/
(4
AL/

4
=
n
NV,

NI
PNV,
X
y

(5 5N 5
\SALNL/
(3
\5/
{ 3 >
5

(A A a0
NN
X

A
PNV,
,

D

BMpP91'5/552-14\(0202) 52552 TH\sBumeld "D\G /562 - Td\s|eroiddy 1onpoid epuold - VALNINVINYI SSejD Anun \syusiD\z



ZA\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.16.dwg

B ) v ] R ~ Qq . a ) ~
.9 a < T g
AY . D ) S s : a”
e ) Q . : IR T .
’ - . 9 Y S e ’ a
.9 P V. a4 . < - .
v Q . . L < -
Y - ) . o N
- Wyl Q . . 2

EXTERIOR

I——

C'SINK —»|

{TYP.)

0.18"

INTERIOR

W

/4 \ VERTICAL CROSS SECTION
W Outswing shown - Inswing also approved

1-1/4" MIN.
EMB. {TYP.)

s ol 0.15"

v ] f— C'SINK

1oee” ' (TYP.)

7 ®

4a

~lll!l//fllll/llll i INTERIOR
ONN ')f"\\
R 10D SN ¢
T VIINN
‘ é v‘ ‘ A Cb‘ 6 %
o @ @ EXTERIOR

/1 "\ HORIZONTAL CROSS SECTION
\y Outswing shown - Inswing also approved

1-1/4" MIN.
EMB. (TYP.)

D
‘v a v . Y a ?Q P : N. /
< , T . :
Y . o ’ QA S - 9 v by
: g < s a <@ - )
9 a v’ < < <{
3
Q’- .
—(c) g
o o
‘\: nZg NOTE:
s = 1. ltem #26 located 6" from each end
EXTERIOR INTERIOR plus 5 more equally spaced (7 total).
A\
/5 "\ VERTICAL CROSS SECTION
\y Outswing shown - Inswing also approved
1-1/4" MIN., e (m“)
EMB. (TYP.) -HTF.
L
e
0.15" N
C'SINK —»] jme— v
(TYP) o,
INTERIOR @
| %
’ I N g .
T V
EXTERIOR @ : -

/2" \ HORIZONTAL CROSS SECTION

W Outswing shown - Inswing also approved

SEENOITE1 a

m HORIZONTAL CROSS SECTION
W Outswing shown - Inswing also approved

e

April 15, 2021
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

P.0O. Box 230, Valrico, FL 33585
813.659.9197

BUILDING CONSULTANTS, iINC.
Phone No.:

FBPE Registry No. 9813

TRINITY GLASS INT'L
HORIZONTAL & VERTICAL
CROSS SECTIONS (2X BUCK)

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4/15/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-25575.16

SHEET _ 5 ofF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



Z\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.16.dwg

@j a4 I é < §
O R N R 7
. ; v s N ..
®\~ :
“ ° s
EXTERIOR INTERIOR
W
/4 \ VERTICAL CROSS SECTION
W Outswing shown - Inswing also approved
1-1/4" MIN,
EMSB. (TYP.)
T
‘\\\\\\\_ , “ o
-\&X&\'.\\\‘\.\\X\.\.\‘ AN y M’\/'u’ : »
7, IV SN g
- » X
O SR . N/ S

m HORIZONTAL CROSS SECTION
\U Outswing shown - Inswing also approved

1. liem #26 located 6" from each end
plus 5 more equally spaced (7 total).

F
% .4 ) . <
Te L a4 -
‘ ) v 4 < . )
< 7 - 4 “ a A
Lo . < o 3 . X 4
Zao ,/@ oy
3 :E:; T T T Y ; E
Y N
& TE
\QD@ NOTE:
INTERIOR
EXTERIOR 1\ ANTERIIR
/"5 "\ VERTICAL CROSS SECTION
w Outswing shown - Inswing also approved
1-1/4" MIN. 1-1/4" MIN,
EMB. (TYP.) EMB. (TYP.)
: INTERIOR @
INTERIOR
-
‘ -

m HORIZONTAL CROSS SECTION
W Outswing shown - Inswing also approved

5

/"3 HORIZONTAL CROSS SECTION

\6/ Outswing shown - inswing also approved

April 15, 2021
Documents Preparad By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

INC.

P.0. Box 230, Valrico, FLL 33585
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

FBPE Registry No. 9813

TRINITY GLASS INT'L

PART OR ASSEMBLY:

PRODUCT:

HORIZONTAL & VERTICAL
CROSS SECTIONS (1X BUCK)

REVISIONS

NOJ DATE

DATE: 4/15/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—-25575.16

SHEET _6 ofF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



SHEET
ROCK

FURRING

1" MIN EDGE

/ ROCK

1-1/4 MIN.
EMB. (TYP.)

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

7“4\ VERTICAL CROSS SECTION

\U Outswing only

N

77

v
<

1" MIN EDGE
DISTANCE

/1 "\ HORIZONTAL CROSS SECTION

\U Outswing only

FURRING

SHEET

©

INTERIOR

EXTERIOR

Item #26 located 4" from each end
plus 5 more equally spaced (7 total).

1-1/4" MIN.
EMB. (TYP.)

FURRING

\\\\
SHEET S
1" MIN EDGE ROCK SQ-
DISTANCE

NN\

e
b ) v -
e . )
a L
<
< A A
. ) -< 4
) 4. . .

\

April 15, 2021

/2" HORIZONTAL CROSS SECTION

W Outswing only

300
EXTERIOR INTERIOR
L\
7”5 "\ VERTICAL CROSS SECTION
\7/ Outswing only
SHEET SHEET
/ ROCK / ROCK
5 FURRING ; FURRING
0 ®))\zzz2
.o 77 INTERIOR R A
IS — @ -

g §8 N 1] - 7 T §5
tay Z . : il Z
zZ i o9 z <
= w ) v 14 2 et
- Q ‘ 4 = o

EXTERIOR 26
SEE NOTE 1
1-1/4" MIN. 1-1/4" MIN.
EMB. (TYP.) EMB. (TYP.)

7“3\ HORIZONTAL CROSS SECTION

\7/ Outswing only

Wy
7
7,
%f, )
. /’ [+)]
.. - m
&L - 8
a.Jd-0"
:<:Z S
&= Lamn
E’:o~& - T
TS E dow
S 2 090
OS> St .
S PO o
N D2k Z
s 8R.3
e ie
v U O xXZo
 Eo Zdo%
o _CO) a) 1]
[+ % (o] . [l 1]
a5 5928k
LT BoOok
s,
c 0
°
E 0% g
3 Bu @-{
8 2«
o~
S
71
[eP-4
xO
~ og
= 2=
Oo
12 ==
12 [
3 |99
o @ &
=
I I S
=
= 2 En
- =z
P = w ol
(] o Q=
2 )
el |3
o o X
>..
o
o
v
o
18]
o
L
<
Ta)
Ie]
Z
DATE: 4/15/21
scAE:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—-25575.16

SHEET 7 oF 13

Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.16.dwg

© 2021 R.W. BUILDING CONSULTANTS ING.



ZA\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.16.dwg

NOTES:

1.

2.

ftem #26 located @ 6", 20" & 34" from the head
down and @ 6" & 20" from the sill up (5 screws total}.
ltem #26 equally spaced between each hinge

{3 total).

(50) —
SEE NOTE 2 3 N @

-~

W

m HORIZONTAL CROSS SECTION
w Outswing shown - Inswing also approved

INTERIOR SEENOTE 1

(50)

\\

/4

EXTERIOR

m HORIZONTAL CROSS SECTION
W Outswing shown - Inswing also approved

-

April 15, 2021
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

P.O. Box 230, Valrico, FL. 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE Registry No. 9813

TRINITY GLASS INT'L
HORIZONTAL CROSS SECTIONS

PART OR ASSEMBLY:

PRODUCT:

BY

NO.J DATE

REVISIONS

oaTE: 4/15/21

scale:  NT.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-25575.16

sHEET 8 oF 13

© zoz21 R.W. BUILDING CONSULTANTS INC.



TON] BANVLINSNGD aNigTung ‘m's 1202 5

£186 ‘ON Ansibey Idgd e SNOISIAZY T TGN ©
LBL6'6S9°CL8 "ON Suoyd - - ™
Sssce 4 “ooion oz o8 04 ] SNOLLOZS SSOMO TOLLYIA Slalzle] 5 m_
"ONI ‘SINVLINSNOD 9SNIaTiNg @ ‘ATENISSY HO Lavd v M - pr B1°
NERREIL
80¥CH "ON ‘T'd | 1glzle O _
IPIWIYDSS ‘4 UOpUA] TLINI SSY19 ALINIYEL o dls |« |2 il
% :Ag peiodeld sjuswINDoQ 1LoNaodd 3 w 235 m %
1202 'Sl udy
('dAL) "aw3
NIW /7 1-1
(dAL) a3 5
NIW ./ 1-1 m
Z
e
o
-
(8
2
[ 72}
~ 3
3 S
oz = o
2 9 s
Z a £
= o @ Qc
m 2 O g
= mn» o | <t o~
SE
wis
>0
@
e
- ('dAL) ‘83
oZ~§ :ﬁ\—.l_.
274
Q
24
('dAL) "an3 - m_
NIW W/ -1 - =
)
|
)
a
~
“ a
o]
[+™4
@]
o
<=
S e N
= i _oln.m
o o
o S & Sk
L o
= I
g2e
ol
<°
Y2
= =2
S|3
9 v
& .
5 (8) o
(18} v
v
< <

BMP9L'§/652-14\0202) 52552 TH\sBumelq "o\ 2662 - Td\sjeroiddy 1onpoid epuold - YAININYINYId SS8ID Auu \suald\Z



TON| SLNVLINSNDD ONIAGTING MM L2002 @

€186 'ON Ansibey 3dad SNOISIAZY
LBL6'6G9’ o - ©
gesee 14 .oo_m_w>nmwnm w_omo c.q%u_ \Su INIHOHONY X0N& = A on Nlg|z |0 S -
"ONI ‘SLNVLINSNOD 9NIalINg @ CATENISSY H0 Luvd REEE .58
///«;o-‘hc.ﬂ :C\\ 3 < 28|
& VNO/a 7, 60¥S¥ ‘ON ‘3'd | &gl VT
OO ooy Y%, Pwuss 4 uopuk TUNI SSY19 ALINIL AEIRe S2lE
> S » kg pesodeld aﬁ_oE:ooo -1LoNQ0¥d 51813 W m W_
120z ‘g1 juay
* -
= . 60¥er OoN
\\\ -'-o .oo. lw \
% N ooa &
“, &mezwo.w.) N
\\\\ :Iow //I/
Nipppans _
wE (dAL) (dAL) XYW
«( - _AI e 0091
* Ll I I I | I I
zZ
Q
u P —-—
-
M P -
=
£ ! O
) W\ W X
iz @)
aE
. g v
e x r ..
. I i I I [ole
<
@ (dAL) XYW S
=, 0.
e . (dAl) feeltyl Q
! 1 N Nw
S 1 _ _ ~ , _ <
g | >
u —
o 1 ox =
=1 Q @ ><
> ,/ = \ ™N
=T |3 ST @)
S A Q .
e & [N
L - L
- _ | ] | | L
- : d‘ c..M.‘..«.‘.......m w M. w.. .....'.Q..T.m..a. iﬂc : wv!

. (dAL) XYW
. ﬁl ( mw: T 0.1
« 1
In 1 | ! I I !
- 2
<. oW s -
2 o
- | _ | | -
-‘ R LA B . <.v.....n . - 1474 m)
o .m..w.....“ mw // Mm ;.v.w‘ T /m W
- fis . o - 2=
=

2X BUCK
(TYP.)

BMP'91'52552-14\0202) 52552 TH\sbumeIqd "D\s /55T - T4\sjerosddy 1onpold epHOLS - VALNINYINYId SSBID Ajun \swuald\'z



Z\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.16.dwg

*NOTE: FRAME CORNERS ATTACHED w/ #8 X 2"
COURSE THREAD DRYWALL SCREWS: (3] @ HEAD,
(3) @ INSWING SILL & (2) @ OUTSWING SILL (TYP.).

s

6"
* ¢ (TYP.)A} - P
Iz I
of
—\|—
2X BUCK
— IXBUCK  —|| 1
DIRECT TO
MASONRY
HEAD & JAMBS G
— (YR} —{| o_
> ol
<C
Iz
~
FRAN{
- ~ (TYP.)
(B

I
N

28

MULLION END DETAIL

(TYP. @ HEAD & SILL)

\\\\\ ,lwllll
8 . &
3\0& -./Qé:g, 0
N A R A
= SSy S A=
MULLION SEE MULLION END MULLION S s IS g g %.; gy 3
0 . n L : o: < E - = ~
FP) ) = PEAL T 3 (TYP) — 03 L &85 L2
1" " = W ; W o : E 0!
r‘ 4 (1YP) —f \ #(1YP) —— < O3 NS ga &
‘ Py ‘ /,, RETTS ST \\\\ g‘ ; 0 5
L I]]T | I 11 | L I]]T | - T T S <
_ - | T T 6R°8
1 I &, °%§%
= = LB S[E g, 28%¢
2XBUCK 3= - 2X BUCK = Sl2 58 5  fw
1XBUCK 1X BUCK w 1
DIRECT TO DIRECT TO z2 Eg®
< .
MASONRY MASONRY g § & @%
HEAD & JAMBS — — HEAD & JAMBS —_ ST g
(TYP.) (TYP.) T kA o~ &
! A
% -
J = A 5 2
o e et O g 13 - E
> . 8= AT a 2
< o QO
> = l 3 |43
o8 - U& 1 .l > o W
| & Tl e&  THE B I
o
TRI 3 .
- — —||  SEE HINGE DETAIL 3¢ Sgéi'iLATE 2 <
(TYP.) (VP
>.-
m
SILL SILL qi
(TYP.) —— ad (TYP.) ] sHe
I BEN LT LT il L
XO/0OX SEE MULLION END OXO HINGE JAMB STRIKE JAMB %
DETAIL (TYP.) &
B
1
FRAME ANCHORING 5 :
) /@
\ \
DIRECT TO DIRECT TO . \
MASONRY MASONRY ‘a of —(23) |
\ 1X BUCK \ 1X BUCK > = @<\ = >@ =
\ 0
92X BUCK 2X BUCK @ N @ » :
o | 3‘7 e T a“/ \\ A\ Cz>
=i e ©=iz- ] o o
= = b 2BUCK (27) 110 ) 2XBUCK — 10 ) SE N.TS.
X BUCK | @ X BUCK m DWG. B:  RW
N N DIRECTTO \ DRECTTO - o Br:__LFS
DRAWING NO.:
HINGE DETAIL HINGE DETAIL MASONRYA/" STRIKE PLATE DETAIL ~ MASONRYAZ/ STRIKE PLATE DETAIL FL-25575.16
INSWING OUTSWING SCHLAGE LOCKSET KWIKSET LOCKSET e 171 o 13

© 2021 R.W. BUILDING CONSULTANTS INC.



vty
\ w X HJQ, l"//
LA LT l/
- l.'.%,,,’ g”)
, —~ e g: <=z ,
| 2T Lo
B El. - M
& i Y OTP 5o n
o J STOS Z o0
. _ <&§ 558
? ! " ] g K? 1 i ’ .‘P@\\\\\ (?) >. ‘rl_i z
: 2.44 | © , 2.45" | 7 e a0l
& ON 18
@ HEAD & JAMBS HEAD & JAMBS g% 9328
FINGER JOINT PINE PVC NEEe Zm,
N 3 58 = o 5 'ﬁ'_"
528 2% Boak
=g w
$ o5 . L§
i E g®
| R
? 313 [ o
~
@ HEAD & JAMBS = "
FINGER JOINT PINE " =
(%] (]
o SILLKEY (RIGHT) 2 |5 §
" " " e - 0.58" SILLKEY (LEFT) > % =
. MEE
\ #8 X 3/4" PHSMS LOCATED e \ 1 7 B |2
\\\\\\\ 1-1/2"TO 3' FROM ENDS PLUS | 515 |
5 MORE EQUALLY SPACED o " . s
2 (7 TOTAL MIN. EACH FACE] 2 4.56 el 10" 4.56 S &
= Een—— = O _ - 2,44 —-—] g = a
] — ] ) % L &
n L —L % ) s
N\ 5 N E | S
0.6'X3.9"LVL
A\ INSERT o o o] o) (o) o o o
— —
7 © : :
O
~— " SILLKEY DETAILS 2
I - o . Optional )
INTEGRAL MULLION 5 INTEGRAL MULLION 3 INTEGRAL MULLION BASE KIT
4 Fone PVC/LVL Optional
: 5 62“ — 2.0]" ......,..1 ‘ | 2‘29n | E
‘ | | 4.57" — ! 1 ! <
¢ [ER—— L3
& ? ¢ } S
- 9 - = pd
~ o = Py
& i P = )= DATE: 4/15/21
‘ N o SCALE:  N.T.S.
) @ SIDELITE SPACER .——————g"’f”f SPACER DWe. B RW
Inswing uiswing CHK. BY: LFS
@ INSWING THRESHOLD 33 OUTSWING THRESHOLD DRAWING NO.:
High-daom FL—-25575.16
SHEET 12 oF 13

Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.16.dwg

© 20021 R.W. BUILDING CONSULTANTS ING.



Z\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.16.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A | IXBUCK [SG >= 0.42) WOOD
B | 2X BUCK (SG >= 0.42) WOOD
C | 1/4 MAX. SHIM SPACE ;
D |1/4"X 2-3/4" PFH DeWALT OR TW CONCRETE SCREW STEEL
= | MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F_ |1/4"X 3-3/4" PFH ITW CONCRETE SCREW STEEL
G | 3/16" X 3-1/4" PFH TW CONCRETE SCREW STEEL
H | 3/16" X 2-1/4" PFH ITW CONCRETE SCREW STEEL
K| 1/4"X 2-3/4" PFH DeWALT CONCRETE SCREW STEEL
L [#10X 2-1/2° PFH WS (1.15" MIN. EMBEDMENT) STEEL
P | 1/4"X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
T | HEAD & JAMB (FINGER JOINT PINE: SG >= 0.42) WOOD
2 | HEAD & JAMB PVC
3 |HEAD & JAMB [5.25") (FINGER JOINT PINE: SG >= 0.42) WOOD
4 | INTEGRAL MULLION (PINE: SG >= 0.42) WOOD
5 | INTEGRAL MULLION (PVC) PVC
6 | INTEGRAL MULLION BASE KIT ABS
7 | WEATHERSTRIP FOAM
8 | DOOR BOTTOM SWEEP PVC
9 | #6X 1-1/4 PFH DRYWALL SCREW STEEL
11| #9 X 2-1/4" PFH WOOD SCREW STEEL
16| LATCH STRIKE PLATE STEEL
17 | DEADBOLT STRIKE PLATE STEEL
18 | DEADBOLT SUB-STRIKE PLATE STEEL
19 | SILLKEY ABS
22 | #8 X 1/2" PFH WOOD SCREW STEEL
23 | #12 X 2-1/2" PFH WOOD SCREW STEEL
24 | #9 X 3/4" PFH WS STEEL
25 | #9 X 1" PFH WS STEEL
26 | #10 X 2" PFH WS STEEL
27 | #8 X 2-1/2" PFH WOOD SCREW STEEL
28 | #10 X 3' PFH WOOD SCREW STEEL
29 | 4'X 4" HINGE STEEL
31 | INSWING THRESHOLD ALUMINUM w/ COMPOSITE SUBSTRATE ALUM/ COMP
32 | SIDELITE SPACER - INSWING PVC
33 | OUTSWING HIGH - DAM THRESHOLD ALUMINUM w/ COMPOSITE SUBSTRATE | ALUM/ COMP
34 | SIDELITE SPACER - OUTSWING PVC
40 | DOOR PANEL -
50 | SIDELITE PANEL -

—_—

‘e
ooooo

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corners may be adjusted to maintfain the min.

edge distance fo mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to

maintain the min. edge distance to mortar joinis, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.
Concrete anchor table:

o Sl EDIG,
Tw BU!LDEé 3/14" 1-1/4" AS SHOWN
TAPCON 174" 1-1/8" 7
DeWAI.T " n "
ULTRACONS | 174 1-1/ L 4

WOQOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws fo prevent the splitting of wood.

O

April 15, 2021
Documents Prepared By:

Ltyndon F. Schmidt
P.E. No. 43409

Ry

813.659.9197

P.0. Box 230, Valrico, FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE Registry No. 9813

TRINITY GLASS INT'L
BILL OF MATERIALS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

DATE: 4/15/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-25575.16

SHEET 13 ofF 13

@ 2021 R.W., BUILDING CONSULTANTS INC.





